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QUESTION ONE (15 MARKS) 

a) Discuss the characteristics of Random Walk Theory. How is it different from Chartism? 

                                                                                                                                    (3 marks) 

b) A company currently has Shs 20 000 000, 12% debenture issue outstanding which has 20 

years remaining to maturity.  The company can now sell a Shs 20 million 20 year bond or 

debenture with a normal or coupon rate of 20% that will net Shs 19.6 million, after the 

underwriting expenses of the old bond.  The core premium and the unamortized discount of 

the old bond are deductible as expenses in the year of refunding.  The old issue has Shs 200 

000 unamortized discounts outstanding and unamortized legal fee of Shs 100 000.  The core 

right of old bond is Shs 109 and the issuing expenses on the new bond are Shs 150, 000 and 

there is a 30 day period of interest overlap.  Assume that the effective income tax is 50%. 

Required: 

 Advice the company on whether to replace the old issue with the new bonds. (5 marks) 

 

c) Assume that the finance manager of ABC Ltd expects to generate sales of £50 000 in the 

current financial year.  Analysis of the firms operating cost structure reveals that variable 

operating cost is 40% of sales and fixed operating cost at £250 000.  

 

The manager wishes to explore the effect of changes in sales and has developed 2 scenarios.  

Sales revenue is 10% less than expected 

Sales revenue is 10% greater than expected 

Required: 

i) Compute EBIT for each of the scenarios and the degree of operating gearing  

                                                                                                                   (4 marks) 

ii) compute the degree of total gearing (3 marks) 

 

 

QUESTION TWO (15 MARKS) 

a) With the help of a diagram discuss the factors that  affect the value of  a Call Option 

                                                                                                                             (4 marks) 

 

 

b)  Explain the assumptions and limitations of capital asset pricing model (CAPM). Why is  

Arbitrary pricing model (APT) more robust than CAPM                   (5 marks) 
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c)  ABC Company is being formed to make a 1 year investment in producing and marketing 

presidential campaign badges.  The firm requires an investment of Sh 10,000,000 of 

which Sh 7,500,000 will be obtained by selling debt with a 10% interest rate and the 

other Sh 2,500,000 will be raised by selling common shares.  All cash distribution to 

debt holders and shareholders will be made at the end of the one year.  After this year is 

over the value of the firm will depend primarily on which candidates make it through 

the primary elections.  The estimated probability of distribution of the firm is: 

 

Probability Value `000' 

    0.7  20,000 

   0.2   5,000 

   0.1    0 

 

Consider the shareholders’ value under the three states of nature and under the expected 

value.                                                                                                                  (6 marks) 

 

 

QUESTION THREE (15 MARKS) 

a) Assume that the risk free rate of return is 8%, the market expected rate of return is 12%.  The 

standard deviation of the market return is 2% while the covariance of return for security A and 

the market is 2%. 

                               Required: 

                              What is the required rate of return on Security A? (3 marks) 

 

b) Four assets have the following distribution of returns. 

 

 Probability  Rate of return (%) 

 Occurrence A B C D 

 0.1 10.0% 6.0% 14.0% 2.0% 

 0.2 10.0 8.0 12.0 6.0 

 0.4 10.0 10.0 10.0 9.0 

 0.2 10.0 12.0 8.0 15.0 

 0.1 10.0 14.0 6.0 20.0 

 

Required: 

a) Compute the expected return and standard deviation of each asset. (3 marks) 
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b)  Compute the covariance of asset                     (6 marks) 

 i. A and B 

 ii. B and C 

 iii. B and D 

 

c) Compute the correlation coefficient of the combination of assets in b above. (3 marks) 

 

QUESTION FOUR (15 MARKS) 

a)  Enumerate in details the Features of Debentures  (3 marks) 

 

b) Discuss the assumptions of the Black  and Scholes Option Pricing Model (OPM) 

(4marks) 

 

a) XYZ Ltd has 900,000 shares outstanding at current market price of Sh 130 per share.  

The company needs Sh 22,500,000 to finance its proposed expansion.  The board of 

directors has decided to issue rights for raising the required funds.  The subscription 

price has been fixed at Sh 75 per share. 

 

 Required: 

 (a) How many rights are required to purchase one new share?          (2 marks) 

 (b) What is the price of one share after the rights issue (Ex-right price)?  (1 marks) 

 (c) Compute the theoretical value of each right                              (1marks) 

 (d) Consider the effect of the rights issue on the shareholders' wealth under the three 

options available to the shareholders (Assume he owns 3 shares and has Sh 75 cash 

on hand).                                                                                                       (4 marks) 

 

QUESTION FIVE (15 MARKS) 

a) Discuss the distinguishing features of : Market segmentation theory, Liquidity 

preference theory  and the Expectation theory            (5 marks) 

 

b) Using the attached Annuity table and assuming an Interest Rate of 10% 

         Determine: 

i) The future value of Kshs: 500,000 invested now for a period of 10 years  

                                                                                                              (2 marks) 
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ii) The future value at the end of eight years of an investment of Kshs: 100,000 

now and Kshs: 50,000 two years from now. (3 marks) 

 

iii) The future value at the end of fifteen years of an investment of Kshs: 2, 

000,000 at the end of each of the first five years and withdrawal of Kshs: 

800,000 per year at the end of years six through fourteen. (5 marks) 

 

QUESTION SIX (15 MARKS) 

a) Discuss the factors that influence the Cost of Capital (3 marks) 

 

b) Maria Ltd is expected to grow 10% per year. Maria’s ordinary shares pay a dividend 

of kshs: 2.00 and sell for kshs: 25.00. What is Maria’s cost of equity capital (2 marks) 

 

c) Enumerate the distinguishing features between: 

 

  (i)  Capital and money markets                 (3 marks) 

   (ii) Future and forward markets                (4 marks) 

 

d) Explain why the Capital Markets are more developed than Money Markets in Kenya 

                                                                                                                        (3 marks) 
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